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Escalation in Russia's
invasion of Ukraine

North & South Korea
Iran & Israel

China

India & Pakistan

Terrorist dirty bomb
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YIELDS

Hiroshima and Nagasaki had
yields of 15 and 21 kilotons

Modern tactical weapons

usually have a capacity of 10
to 100 kilotons




TARGETS

Augusta

Bangor Airport
Bath Iron Works
Boston

All Critical Infrastructure






https://youtu.be/2jy3JU-ORpo
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100 KILOTONS:
BANGOR . -

Estimated fatalities: 2,740 Mllo Enfeld Motahkomik

Indian Towns
-

Estimated injuries: 12,280

Fallout 20 Square mile Radius

Radiation radius (500 rem): o 4
1.82 km (10.5 km?2) ?1@,—
500 rem ionizing radiation dose;
likely fatal, in about 1 month; ., g B
15% of survivors will eventually PUEEPert CEllsworth ' .
die of cancer as a result of Gouldsboro :
Belfast

exposure.

Bar Harbor
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